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1. Accrual-basis accounting

a. Results in higher income than cash-basis N
accounting

b. Leads to the reporting of more complete
information than does cash-basis accouﬁtingl

¢. Is not acceptable under GAAP

d. Omits adjusting entries at the end of the
period

l6.
|
_ -- —
2. What is the control advantage of the net
method of accounting for inventory purchases ?l
a. It guarantees that all purchase discounts |
will be taken i
b. It Automatically increases the business's
cash balance I 7.
¢. It highlights the inefficiency of losing |
purchase discounts '
d. It results in a higher quality of inventory'
on hand for customers |
|

3. Which of the following items is a revenue

expenditure 7

a. Property tax paid on land one year after
it is acquired

b. Survey fee paid during the acquisition of
land

c. Legal fee paid to acquire land

d. Building permit paid to construct a
warehouse on the land

4. Which of the following statements is most in

keeping with the materiality concept?

a. Accountants record material losses but are'
reluctant to record material gains

b. Different companies have different I
materiality limits, depending on their size

¢. Business-segment data are disclosed to |
fulfill the materiality concept

. '
d. Companies report all the information neegeg
______ta_cammunzcagg a.material view af the entity
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l
|
|
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— SELECT THE BEST ANSWER FOR EACH OF THE FOLLOWING ITEMS: (ZO S)
LA XS 1

5. Organization cost is classified as a (an)

a. Operating expense

b. Current asset

c. Contra item in stockholders' equity
d. None of the above

The appropriated for treasury stock )

a. Has no effect on total retained earnings

b. Reduces retained earnings available for the
declaration of dividends

c. Can be reported by a note or by appropriatiol
of retained earnings, or both

d. All of the above

Ten-year, 11% bonds payable of $500,000 were

issued for $532,000. Assume the effective

interest method of amortization is used.Total

annual interest expense on the bonds is

a. $51,800 b. $55,000 c. $58,200

d. A decreasing amount each year because the
bonds' book value decreases as the premium
is amortized

Parent Ca, has separate net income of §155,000.
Subsidiary A, Which Parent owns 90% of, reports
net income of $60,000, and Subsidiary B, Which
Parent owns 60% of, reports net income of
$80,000. What is Parent Co.'s consolidated
net income ¥

a. $155,000 b. $257,000 c. $263,000 d. $295,000

The statement of cash flows is used for decisiof

making by a. Giving the ratio relationships
between selected items. ;

b. Indicating how net income was earned

c. Reporting where cash came from and how it
was spent

d. Showing a horizontal analysis of cash flows
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